
1

1 1 6°

2 (1) Ag+ Cu2+ Zn2+

Zn2+

2 6°
(2) Al

3 4°

3 O Si Al Fe

4 5°

4 (1) Al Na3AlF6 Al2O3 H2O Al

Zn Al

5 4°
(2) CO CO2

2C + 2O2 2CO + 4 e , C + 2O2 CO2 + 4 e

CO CO2 2 : 5

7C + 12O2 2CO + 5CO2 + 24 e

Al

Al3+ + 3 e Al

Al

2.94 kg

12 g/mol
× 24

7
× 1

3
× 27 g/mol = 7.56 kg

6 7° 7 5° 8 6°

5 NaAlO2 Na[Al(OH)4]

Al(OH)3 +NaOH Na[Al(OH)4]

Al(OH)3 +NaOH NaAlO2 + 2H2O

Na[Al(OH)4] CO2 Al(OH)3 CO2
2NaOH + CO2 Na2CO3 +H2O Al(OH)3

2Na[Al(OH)4] + CO2 2Al(OH)3 +Na2CO3 +H2O

2NaAlO2 + 3H2O+ CO2 2Al(OH)3 +Na2CO3

9 2°



2

1 (1) 1.0× 106 Pa
10 2°

(2) 40 C

11 2°
(3) 0 C

12 1°

2 (1) c 1.99 × 105 Pa
1.99× 105 Pa A

1 1.99× 105 Pa
120 C

13 6°
(2) A 1.99× 105 Pa B

1.99× 105 Pa B

1.99× 105 Pa× 44.4 L
8.31× 103 Pa · L/(mol ·K)× 444 K = 2.394 mol

14 2° 15 3° 16 9°
(3) 1 60 C

0.199× 105 Pa = 1.99× 104 Pa
17 1° 18 9° 19 9° 20 4°

(4)

1.99× 104 Pa× 44.4 L
8.31× 103 Pa · L/(mol ·K)× 333 K = 2.394 mol× 1.99× 104 Pa

1.99× 105 Pa ×
444 K

333 K
= 0.319 mol

(2.394 0.319) mol× 18 g/mol
1.00 g/mL

= 37.3 mL

31 4°
(5) 1.00× 105 Pa 245 C H2O

3

0 C H2O

1.00× 105 Pa× 273 K

518 K
= 0.527× 105 Pa

245 C 1.00× 105 Pa 90 C

22 3°



3

1 130 140 C 2

160 170 C 1

(1) 23 5° 24 6° 25 2°
(2) 26 1°

2 1°
2°
3°

4°

5°
27 2° 4°

3

28 1° 2°

4 1°
2°

3°

4°
5°

78 C 35 C

29 2° 5°

5 4

H CH3 C CH CH=CH2 C6H8

30 0° 31 6° 32 0° 33 8°

6 (1) HCOOCH2CH2CH3 HCOOCH(CH3)CH3 CH3COOCH2CH3
CH3CH2COOCH3 4

34 4°
(2) Y

4°
Z 1- 2-

1°

35 4° 36 1°
(3) Cu2O

37 3° 38 1°
(4) C4H8O2

C4H8O2 + 5O2 4CO2 + 4H2O

33 mg

88 g/mol
× 4

1
× 44 g/mol = 66 mg

33 mg

88 g/mol
× 4

1
× 18 g/mol = 27 mg

39 6° 40 6° 41 2° 42 7°



(5) C4H8O2 C=C C=O 1 1

a C3H7 COOH C3H7 2

b C3H7O CHO C3H7O

c C=C 1

C C=C C HO CH2 CH = CH CH2 OH

HO CH2 CHO

d C4H8O2 8 H

OH H C H

2 1,4-

43 0°

3 43 1 1

2 2 1 2 3 1

6 36 31

5 8 7

1 4 (2)

5

CO2

2 1 2

(5) 3

3 1 4 3

5 6

(2)

(5)

7


